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B. A. (MAJOR PHILOSOPHY) 

(BAFPY)  

Term-End Examination 

June, 2025 

BPYC–102 : ETHICS  

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Answer all the five questions. 

 (ii) All questions carry equal marks. 

 (iii) Answers to question nos. 1 and 2 

should be in about 400 words each. 

1. Discuss Immanuel Kant’s ‘Deontological 

Ethics’. Present a critical appraisal of 

Deontological Ethics. 20 

Or 

What is moral relativism ? What are the 

different types of moral relativism ? Explain. 
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2. What is Natural Moral Law ? Why is 

natural moral law universally valid ? 

Discuss.   20 

Or 

What is ethical naturalism ? Discuss G. E. 

Moore’s criticism of the same.  

3. Answer any two of the following questions in 

about 200 words each : 

(a) Discuss the basic assumptions of 

Utilitarianism. 10 

(b) What is virtue ? Explain the Socratics’ 

dictum, ‘Virtue is knowledge’. 10 

(c) Present the arguments of Teleological 

theory on moral action. 10 

(d) How did emotivism emerge as a meta-

ethical theory ? Explain. 10  

4. Answer any four of the following questions 

in about 150 words each : 

(a) Discuss the role of reason in morality. 5 

(b) Write a note on Buddhist views on 

moral action. 5 
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(c) Write a note on Plato’s cardinal virtues.  

5 

(d) Explain briefly the ethical teachings of 

Jain Philosophy. 5 

(e) Describe the relation between natural 

moral law and human dignity. 5 

(f) Write a note on Prescriptivism. 5 

5. Write short notes on any five of the following 

in about 100 words each : 

(a) Open Question Argument 4 

(b) Eudaimonia 4 

(c) Christian vices 4 

(d) Relation between religion and ethics 4 

(e) Hinduism on moral action 4 

(f) Ethical Non-Naturalism 4 

(g) Intuitionism 4 

(h) Error theory 4 
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 BPYC–102 

ch- ,- (eq[; n'kZu'kkL=) 

 (ch- ,- ,Q- ih- okbZ-) 

l=kar ijh{kk  

twu] 2025 

ch-ih-okbZ-lh-&102 % uhfr'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) lHkh ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) iz'u la[;k 1 vkSj 2 ds mÙkj yxHkx 400&400 

'kCnksa esa nhft,A 

1- beSuq,y dk.V ds drZO;ijd uhfr'kkL= dh ppkZ dhft,A 

drZO;ijd uhfr'kkL= dk vkykspukRed ewY;kadu izLrqr 

dhft,A   20 

vFkok 

uSfrd lkis{krkokn D;k gS \ uSfrd lkis{krkokn ds fofHkék 

izdkj dkSu&ls gSa \ O;k[;k dhft,A  
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2- izkÏfrd uSfrd fu;e D;k gS \ izkÏfrd uSfrd fu;e 

lkoZHkkSfed :i ls oS/k D;ksa gS \ ppkZ dhft,A 20 

vFkok 

uhfr'kkL=h; izÏfrokn D;k gS \ th- bZ- ewj }kjk dh x;h 

bldh vkykspuk dh ppkZ dhft,A  

3- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj yxHkx  

200&200 'kCnksa esa nhft, % 

(v) mi;ksfxrkokn dh ewyHkwr ekU;rkvksa dh ppkZ 

dhft,A  10 

(c) ln~xq.k D;k gS \ lqdjkr ds dFku ^ln~xq.k Kku gS* 

dh O;k[;k dhft,A 10 

(l) uSfrd ÏR; ij mís';ijd fl¼kar dh ;qfDr;ksa dks 

izLrqr dhft,A 10 

(n) laosxokn ,d vf/kuhfr'kkL=h; fl¼kar dh rjg dSls 

mHkjk \ O;k[;k dhft,A 10 

4- fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj yxHkx  

150&150 'kCnksa esa nhft, % 

(v) uSfrdrk esa rdZ dh Hkwfedk dh ppkZ dhft,A 5 

(c) uSfrd ÏR; ij ckS¼ n'kZu ds fopkjksa ij fVIi.kh 

fyf[k,A  5 
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(l) IysVks ds iz/kku ln~xq.kksa ij fVIi.kh fyf[k,A 5 

(n) tSu n'kZu dh uhfr'kkL=h; f'k{kkvksa dh laf{kIr 

O;k[;k dhft,A 5 

(;) izkÏfrd uSfrd fu;e vkSj ekuo xfjek ds e/; 

lEcU/k dk o.kZu dhft,A 5 

(j) ijke'kZokn ij fVIi.kh fyf[k,A 5 

5- fuEufyf[kr esa ls fdUgha ik¡p ij yxHkx 100&100 'kCnksa 

esa laf{kIr fVIif.k;k¡ fyf[k, % 

(v) [kqyk iz'u rdZ (Open Question Argument) 4 

(c) ije lq[k (;wMkbZeksfu;k) 4 

(l) bZlkbZ voxq.k 4 

(n) /keZ vkSj uhfr'kkL= ds e/; lEcU/k 4 

(;) fgUnw /keZ ds vuqlkj uSfrd ÏR; 4 

(j) uSfrd xSj&izÏfrokn 4 

(y) vUr%izKkokn 4 

(o) =qfV fl¼kar 4 

× × × × × 


